

# Jackson County, Missouri

# **Request for Legislative Action**

REQUESTED MEETING DATE:	SF	SPONSOR: Jalen Anderson				
To be completed by the County Counselor's Office NUMBER: 5850		SSIGNED M	EETING DATE	<u>66/03/2024</u>		
STAFF CONTACT: Ric Johnson		PHONE: <u>(</u> 8	16) 881-4499	9		
EMAIL: eljohnson@jacksongov	org.					
<b>DEPARTMENT:</b> Public Works D	epartment - Eng	ineering D	ivision			
TITLE: Awarding the East Helmig Road EBRO-B048 (60), to Radmacher Bterms and conditions of the Invita	rothers Excavating Co	contract, JCPV mpany, Inc., P	V 3215, Federal F easant Hill Misso	roject No. uri under the		
SUMMARY: The County entered into an agreement with MoDOT to fund the construing 80% funding on eligible costs for the project. The Local Entity is responsionally funding for the construction of this bridge.						
The County entered into an agreement with TREKK Design Group (Ord Road Bridge Reconstruction contract includes the removal of an existing minor reshaping of the roadway shoulders.						
Advertisements were posted by MoDOT on their RFP website, by the Pi documents were viewed by five (5) possible bidders. One (1) bid was si				website. Construction		
Bidder Name City and State Bid Submitted Radmacher Brothers Excavating Company, Inc. Pleasant Hill, MO \$ 587	7,555.35					
The Engineer's Estimate for the project was \$ 624,364.00.						
Pursuant to Section 1054.6 of the Jackson County Code, Chapter 10 Puawarded to Radmacher Brothers Excavating Company, Inc. (Pleasant H			ance and Purchasing recomn	nend that the contract be		
We request that:  1. A Resolution be prepared authorizing the County Executive to execut  2. The Director of Finance and Purchasing be authorized to encumber fi  3. The Director of Public Works be authorized to approve adjustments in	unds to cover the costs of this contract	t.				
FINANCIAL IMPACT: NO	Amount	Fund	Department	Line-Item Detail		
YES ■	\$ 587,556.00	010		56030		
ACTION NEEDED: APPROPRIAT	E FUNDS					
ATTACHMENT(S):  01_Bid Summary_Helmig Rov 02_Bid Tabulation_Helmig Rov 03_Notice to Contractors_Hel 04_Acknowledgement of Add 05_Certificate of Compliance, 06_Good Standing_Helmig Rov 07_CORE4_Unified Governm 08_CORE4_Johnson County, 09_CORE4_KCMO_Helmig F 10_CORE4_Jackson County,	aad Bridge, pdf Imig Road Bridge,pdf enda Helmig Road Bridge,pdf Helmig Road Bridge,pdf oad Bridge,pdf ent, Helmig Road Bridge,pdf Helmig Road Bridge,pdf Road Bridge,pdf Helmig Road Bridge,pdf			Ð		

#### Fiscal Note:

Funds sufficient for this appropriation are available from the source indicated below.

Date:	May 1, 2024			ORD # eRLA ID #:	5850
010	Grant Fund				
	Cost Center	Spend Category	Program/Grant/Project	From	То
9999		32810 Undesignated Fund Balance		\$ 587,556	\$ -
1501	Public Works - Director's Office	56030 Architectural & Engin. Services	GR100026 & PJ-100012		587,556
				\$ 587,556	\$ 587,556
	PC#	Fiscal No This expenditure was included		<u>Ψ 001,000</u>	Ψ σστ,σσσ
010	Grant Fund				
	Cost Center	Spend Category	Program/Grant/Project		То
1501	Public Works - Director's Office	56030 Architectural & Engin. Services	GR100026 & PJ-100012		\$ 587,556
	ROVED  Tab Matthes at 12:18 pm. May 01, 2	024		=	\$ 587,556

Budget Office



# Jackson County, Missouri Department of Public Works Engineering Division

# SOUTH HELMIG ROAD BRIDGE RECONSTRUCTION COUNTY PROJECT NO. 3215 ITB NO. 24-002

#### **UNOFFICIAL BID SUMMARY**

BID SUBMITTAL DATE AND TIME: March 13, 2024 @ 2:00 PM

NOTE: This is an unofficial bid summary and only reflects the initial reading of the bids received, not the evaluation of such bids.

NO.	Firm	City and State	Amount Bid	% above Low
1	1 Radmacher Brothers Excavating Co., Inc. Pleasant Hill, MO		\$587,555.35	0.00%
	Engineers Estimate			6.26%

Printed: 3/18/2024



#### Bid Tabulation for South Helmig Road Bridge Reconstruction County Project No. 3215 - ITB No. 24-002 Department of Public Works - Engineering Division

Bid Submittal Date and Time: March 13, 2024 at 2:00 PM

	*	UI	NOFFICIA	\L			
Т	his project is funded by Missouri Department	of Transport	ation.	Low Bidder  Radmacher Brothers Excavating Co., Inc. Pleasant Hill, MO		Engineer's Estimate	
Item	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price
1	Mobilization	1	LS	\$57,240.00	\$57,240.00	\$68,000.00	\$68,000.00
2	Contractor Furnished Survey and Staking	1	LS	\$7,705.00	\$7,705.00	\$6,800.00	\$6,800.00
3	Clearing and Grubbing	0.1	Acre	\$42,842.00	\$4,284.20	\$10,000.00	\$1,000.00
4	Removal of Improvements	1	LS	\$53,981.00	\$53,981.00	\$35,000.00	\$35,000.00
5	Unclassified Excavation	336	CY	\$38.30	\$12,868.80	\$100.00	\$33,600.00
6	Class 4 Excavation	439	CY	\$38.20	\$16,769.80	\$65.00	\$28,535.00
7	Embankment	785	CY	\$8.60	\$6,751.00	\$30.00	\$23,550.00
8	Contractor Borrow	165	CY	\$48.25	\$7,961.25	\$55.00	\$9,075.00
9	Barricades (Type III w/ Flashers)	8	Each	\$391.25	\$3,130.00	\$350.00	\$2,800.00
10	Construction Signs	270	SF	\$23.70	\$6,399.00	\$20.00	\$5,400.00
11	Foundation Stabiliation	86	CY	\$198.25	\$17,049.50	\$90.00	\$7,740.00
12	Culvert Leveling Pad	224	SY	\$73.10	\$16,374.40	\$20.00	\$4,480.00
13	Double Cell 10' x 8' RCB Culvert	82	LF	\$3,611.00	\$296,102.00	\$4,200.00	\$344,400.00
14	Rock Blanket (Type 2)	132	CY	\$146.75	\$19,371.00	\$150.00	\$19,800.00
15	Woven Wire Fence	129	LF	\$35.00	\$4,515.00	\$25.00	\$3,225.00
16	Barbed Wire Fence (Temporary)	129	LF	\$31.55	\$4,069.95	\$25.00	\$3,225.00
17	Aggregate Base (4")(MoDOT Type 5)	51	Tons	\$65.25	\$3,327.75	\$110.00	\$5,610.00
18	Asphaltic Concrete Pavement (4") (RC Type 5-01)	50	Tons	\$310.50	\$15,525.00	\$220.00	\$11,000.00
19	Silt Fence	261	LF	\$1.60	\$417.60	\$4.00	\$1,044.00

Page 1 of 2 3/18/2024

		UI	NOFFICIA	L			
Т	his project is funded by Missouri Department o	of Transport	ation.	Radma Excava	ow Bidder acher Brothers ating Co., Inc. sant Hill, MO	Engine	er's Estimate
Item	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price
20	Rock Ditch Check	36	LF	\$35.50	\$1,278.00	\$25.00	\$900.00
21	Sediment Removal	6	CY	\$54.55	\$327.30	\$30.00	\$180.00
22	Permanent Signing	24	SF	\$88.90	\$2,133.60	\$100.00	\$2,400.00
23	Temporary Seeding & Mulching	0.1	Acre	\$16,002.00	\$1,600.20	\$6,000.00	\$600.00
24	Permanent Hydroseeding & Mulching	0.1	Acre	\$35,560.00	\$3,556.00	\$10,000.00	\$1,000.00
25	8" Gate Valve	2	Each	\$12,409.00	\$24,818.00	\$2,500.00	\$5,000.00
		Total Bid	for Project =		\$587,555.35		\$624,364.00

Page 2 of 2 3/18/2024

#### **NOTICE TO CONTRACTORS**

All bids must be submitted through the Bonfire Portal at <a href="https://jacksongov.bonfirehub.com">https://jacksongov.bonfirehub.com</a> before 2:00 P.M. (prevailing local time) on **March 5, 2024**.

(1) **PROPOSED WORK:** The proposed work, hereinafter called the work, includes:

Removal of the existing cast-in-place culvert and the installation of a double 10' x 8' cast-in-place box culvert, including end sections. Additional work tasks includes reshaping of the roadway shoulders and placement of rock blanket around the wingwalls to prevent erosion.

**COMPLIANCE WITH CONTRACT PROVISIONS:** The Bidder, having examined and being familiar with the local conditions affecting the work, and with the contract, contract documents, including the current version of the Missouri Highways and Transportation Commission's "Missouri Standard Specifications for Highway Construction, 2023", and "Missouri Standard Plans for Highway Construction, 2023", their revisions, and the request for bid, including appendices, the special provisions and plans, hereby proposes to furnish all labor, materials, equipment, services, etc., required for the performance and completion of the work. All references are to the Missouri Standard Specifications for Highway Construction, as revised, unless otherwise noted.

The following documents are available on the Missouri Department of Transportation web page at www.modot.mo.gov under "Business with MoDOT" "Standards and Specifications". The effective version shall be determined by the letting date of the project.

General Provisions & Supplemental Specifications 2023 Missouri Standard Plans for Highway Construction

These supplemental bidding documents contain all current revisions to the bound printed versions and have important legal consequences. It shall be conclusively presumed that they are in the Bidder's possession, and they have been reviewed and used by the Bidder in the preparation of any bid submitted on this project.

Please note that within the above-listed documents, the term "Commission" shall be replaced with the term, "Jackson County Public Works", and the term "Engineer" is a reference to the County.

The contracting authority for this contract is Jackson County Public Works.

(3) PERIOD OF PERFORMANCE: If the Bid is accepted, the Bidder agrees that work shall be diligently prosecuted at such rate and in such manner as, in the judgment of the Engineer, is necessary for the completion of the work within the time specified as follows in accordance with Sec 108:

Working Days: 110

(4) <u>LIQUIDATED DAMAGES</u>: The bidder agrees that, should the bidder fail to complete the work in the time specified or such additional time as may be allowed by the engineer under the contract, the amount of liquidated damages to be recovered in accordance with Sec 108 shall be as follows:

Liquidated damages: \$950 per day (see General Conditions GC-49 and Special Conditions SC-49).

Cashier's Check

- (5) <u>BID GUARANTY</u>: The Bidder shall submit a Bid Guaranty with the Bid meeting the requirements of Sec. 102 of the Missouri Standard Specifications for Highway Construction. A sample project Bid Bond form is included in the project manual. The Bidder shall mark the box below to identify the type of Bid Guaranty.

  □ Paper Bid Bond
- (6) <u>CERTIFICATIONS FOR FEDERAL JOBS:</u> By signing and submitting this Bid, the Bidder makes the certifications appearing in Sec. 102.18.1 (regarding affirmative action and equal opportunity), Sec. 102.18.2 (regarding disbarment, eligibility, indictments, convictions, or civil judgments), Sec. 102.18.3 (regarding anti-collusion), and Sec. 102.18.4 (regarding lobbying activities). Any necessary documentation is to accompany the bid submission, as required by these sections. As provided in Sec. 108.13, the contracting authority may terminate the contract for acts of misconduct, which includes but is not limited to fraud, dishonesty, and material misrepresentation or omission of fact within the bid submission.
- (7) <u>ANTIDISCRIMINATION:</u> The Contracting Authority hereby notifies all Bidders that it will affirmatively insure that in any Contract entered into pursuant to this advertisement, businesses owned and controlled by socially and economically disadvantaged individuals will be afforded full opportunity to submit bids in response to this invitation and will not be discriminated against on the grounds of race, color, religion, creed, sex, age, ancestry, or national origin in consideration for an award.
- (8) <u>FEDERAL AND STATE INSPECTION:</u> The Federal Government is participating in the cost of construction of this project. All applicable Federal laws, and the regulations made pursuant to such laws, shall be observed by the contractor, and the work will be subject to the inspection of the appropriate State or Federal Agency in the same manner as provided in Sec 105.10 of the Missouri Standard Specifications for Highway Construction with all revisions applicable to this bid and contract.
- (9) PREVAILING WAGE (FEDERAL AND STATE): This contract requires payment of the prevailing hourly rate of wages for each craft or type of work required to execute the contract as determined by the Missouri Department of Labor and Industrial Relations, and requires adherence to a schedule of minimum wages as determined by the United States Department of Labor. For work performed anywhere on this project, the contractor and the contractor's subcontractors shall pay the higher of these two applicable wage rates. The applicable state wage rates for this contract are detailed in "Annual Wage Order No. 67", that is attached to this bidding document. The applicable federal wage rates for this contract are the effective Davis-Bacon federal wage rates posted the tenth day before the bid opening date and are attached herein.

These supplemental Bidding Documents have important legal consequences. It shall be conclusively presumed that they are in the Bidder's possession, and they have been reviewed and used by the Bidder in the preparation of any Bid submitted on this project.

(10) WORKER ELIGIBILITY REQUIREMENTS: Execution of the construction contract for this project is dependent upon the awarded Bidder providing an Affidavit of Compliance AND E-Verify Memorandum-of-Understanding (MOU) between the Bidder and Department of Homeland Security to the Contracting Authority as required by section 285.530 RSMo. The cover page and signature page of the E-Verify MOU and the Affidavit must be submitted prior to award of this contract.

A sample Affidavit of Compliance can be found at the Missouri Attorney General's website at the following link: <a href="http://ago.mo.gov/forms/Affidavit">http://ago.mo.gov/forms/Affidavit</a> of Compliance.pdf

All Bidders must also be enrolled in the E-Verify Program, and include their MOU prior to contract execution. Bidders who are not enrolled will need to go to the following website link and select "Enroll in the Program" to get started. After completing the program, they will receive their E-Verify MOU with Department of Homeland Security. This document will need to be printed out and kept on file so that a copy can be attached to the Affidavit of Compliance. The link is: <a href="http://www.dhs.gov/files/programs/gc">http://www.dhs.gov/files/programs/gc</a> 1185221678150.shtm

This requirement also applies to subcontractors and contract labor, but this contract only requires submittal of the verification documents for the prime contractor. It is the prime contractor's responsibility to verify the worker eligibility of their subcontractors in order to protect their own company from liability as required by section 285.530 RSMo.

- (11) OSHA TEN HOUR TRAINING REQUIREMENTS: Missouri Law, 292.675 RSMO, requires any awarded contractor and its subcontractor(s) to provide a ten-hour Occupational Safety and Health Administration (OSHA) Construction Safety Program (or a similar program approved by the Missouri Department of Labor and Industrial Relations as a qualified substitute) for their on-site employees (laborers, workmen, drivers, equipment operators, and craftsmen) who have not previously completed such a program and are directly engaged in actual construction of the improvement (or working at a nearby or adjacent facility used for construction of the improvement). The awarded contractor and its subcontractor(s) shall require all such employees to complete this ten-hour program, pursuant to 292.675 RSMO, unless they hold documentation on their prior completion of said program. Penalties, for Non-Compliance include contractor forfeiture to the Contracting Authority in the amount of \$2,500, plus \$100 per contractor and subcontractor employee for each calendar day such employee is employed beyond the elapsed time period for required program completion under 292.675 RSMO.
- Section 165 of the Surface Transportation Assistance Act of 1982, Section 337 of the Surface Transportation and Uniform Relocation Assistance Act of 1987, 23 CFR 635.410, and the Bipartisan Infrastructure Law (2021) Build America, Buy America Act Publication L. No. 117-58 regarding Buy America provisions on the procurement of foreign products and materials. On all contracts involving Federal-aid, all products of iron, steel, or a coating of steel which are incorporated into the work must have been manufactured in the United States. Construction materials consisting primarily of non-ferrous metals, plastic and polymer-based products, glass, lumber, or drywall also require Buy America certification. Cement and cementitious materials; aggregates such as stone, sand, or gravel; or aggregate binding agents or additives are excluded from this requirement. In addition, manufactured products are currently exempted under the 1983 waiver from FHWA. The Contracting Authority may allow minimal amounts of these materials from foreign sources, provided the cost does not exceed 0.1 percent of the contract sum or \$2,500, whichever is greater. The Contractor certifies that these materials are of domestic origin. Additional information regarding the "Buy America" requirements can be found at:

https://www.fhwa.dot.gov/construction/cqit/buyam.cfm

- (13) <u>ADDENDUM ACKNOWLEDGEMENT:</u> The undersigned states that the all addenda (if applicable) have been received, acknowledged and incorporated into their Bid, prior to submittal. For paper bids, staple addenda to the bid in the appropriate part of the bid.
- (14) <u>SIGNATURE AND IDENTITY OF BIDDER:</u> The undersigned states that the following provided information is correct and that (if not signing with the intention to bind themselves to become the responsible and sole bidder) they are the agent of, and they are signing and executing this, as the bid of

which is the correct LEGAL NAME as stated on the Contractor questionnaire.

FEDERAL PROJECT NO. BRO-B048 (60) JCPW PROJECT NO. 3215

venturer (whether i	anization submitting this ndividuals or corporatior dicate by marking the ap	ns, and whether doin	g business under a	
sole inc	lividual	☐ partnership	[	☐ joint venture
☐ corpora	tion, incorporated under	laws of state of		
b) If the Bi	dder is doing business u	nder a fictitious nam	e, indicate below by	filling in the fictitious
name:				
Executed by Bidde	r this day of		2023.	
HAVE NEITHER DIN ANY COLLUS COMPETITIVE BII PERFORM THE V	RTIFIES THAT THE BID IRECTLY NOR INDIRECTION, OR OTHERWIS DDING IN CONNECTION WORK WITH ITS OWN IN THE BENEFIT OF ANC	CTLY ENTERED INT SE TAKEN ANY N WITH THIS BID, BONAFIDE EMPLO	FO ANY AGREEME ACTION IN RES AND THAT THE B YEES AND SUBCO	ENT, PARTICIPATED TRAINT OF FREE DDER INTENDS TO
PENALTY OF P DECLARATION U FEDERAL LAWS.	NOWLEDGES THAT THE ERJURY UNDER THE NDER THE LAWS OF THE FAILURE TO PRO NSIVE, AND CAUSE IT	E LAWS OF THE MISSOURI, AND A OVIDE THIS CERTIF	UNITED STATE ANY OTHER APPL	S AND/OR FALSE ICABLE STATE OR
INDIVIDUALS WH APPLICABLE FEI	ERTIFIES THAT THE O ARE AUTHORIZED TO DERAL AND STATE LA B FOR CONTRACTS WI	O WORK IN THE UN AWS AND ALL PRO	IITED STATES IN A OVISIONS OF MIS	CCORDANCE WITH SOURI EXECUTIVE
	ck this box ONLY if the bidder may provide an e			
Signature of Bidde	r's Owner, Officer, Partn	er or Authorized Age	ent	
	e name and title of perso	on signing here		
Attest:				Affix Corporate Seal

Secretary of Corporation if Bidder is a Corporation

NOTE: If Bidder is doing business under a fictitious name, the Bid shall be executed in the legal name of the individual, partners, joint ventures, or corporation, and registration of fictitious name filed with the secretary of state, as required by sections 417.200 to 417.230 RSMo. If the Bidder is a corporation not organized under the laws of Missouri, it shall procure a certificate of authority to do business in Missouri, as required by Section 351.572 et seq RSMo. A certified copy of such registration of fictitious name or certificate of authority to do business in Missouri shall be filed with the Missouri Highways and Transportation Commission, as required by the standard specifications.

- (15) <u>TRAINEES</u>: By submitting this Bid, the Bidder certifies that the Bidder is familiar with the Training Provision in the Missouri Highways and Transportation Commission's "General Provisions and Supplement Specifications" which are available on the Missouri Department of Transportation web page at www.modot.mo.gov under "Business with MoDOT" "Standards and Specifications". The number of trainee hours provided under this contract will be **0** slots at 1,000 hours per slot or **0** hours.
- (16) <u>SUBCONTRACTOR DISCLOSURE</u>: Requirements contained within Sec 102.7.8 of the Missouri Standard Specification for Highway Construction shall be waived for this contract.
- (17) PROJECT AWARD: This project will be awarded to the lowest, responsive, responsible Bidder.
- (18) <u>MATERIALS INSPECTIONS</u>: All technicians who perform, or are required by the FHWA to witness, such sampling and testing shall be deemed as qualified by virtue of successfully completing the requirements of EPG 106.18 Technician Certification Program, for that specific technical area.
- (19) PRIME CONTRACTOR REQUIREMENTS: The limitation in Sec 108.1.1 of the Missouri Standard Specifications for Highway Construction that "the contractor's organization shall perform work amounting to not less than 30 percent of the total contract cost" is waived for this contract. Instead, the less restrictive terms of the Federal Highway Administration's rule at Title 23 Code of Federal Regulations (CFR) § 635.116(a) shall apply, so that the contractor must perform project work with its own organization equal to and not less than 30 percent of the total original contract price. Second-tier subcontracting will not be permitted on this contract. All other provisions in Sec 108.1.1 et seq. of the Missouri Standard Specifications for Highway Construction shall remain in full force and effect, and shall continue to govern the contractor and its subcontractors, in accordance with the provisions of Title 23 CFR § 635.116.

<u>ITEMIZED BID:</u> The bidder should complete the following section in accordance widaddnth Sec 102.7. The bidder proposes to furnish all labor, materials, equipment, services, etc. required for the performance and completion of the work, as follows:

FEDERAL PROJECT NO. BRO-B048 (60) JCPW PROJECT NO. 3215 (ITB 24-002)

### **ADDENDA CERTIFICATION**

The undersigned acknowledges receipt of addenda thro	ough and including numbers
1 (3-01-2024) , and that the bid subministructions and stipulations set forth thereby.	tted is in accordance with information,
Aut	horized Signature of Bidder
Ra	dmacher Brothers Excavating Co., Inc.
	13-2024
Dat	e
The undersigned states that this Bid is made in the char he is the agent of, and is duly authorized to sign for:  Radmacher Brothers Excavating Co., Inc.	acter or capacity checked in this paragraph, that
Legal Name o	f Firm
and that the Bid is signed with the full understanding foregoing terms of the Bid.	of the plans, provisions, specifications, and the
	eign Individual
() Missouri Partnership () Fore ★) Missouri Corporation () Fore	eign Partnership
χ) Missouri Corporation () Fore Licensed in Missouri	eign Corporation
	eign, doing business in Missouri under fictitious y of State.
Dated at Pleasant Hill, Missouri	,
City, Sta	16
this 13th day of March	, 202🕱. 4

# Jackson County Missouri Certificate of Compliance



In accordance with Jackson County Code Chapter(s) 6 and 10, this Certificate of Compliance is hereby issued to:

Radmacher Brothers Excavating Co., Inc. 2201 North 7 Highway B
Pleasant Hill, MO 64080
2024 Certificate: 20240103VC426

Issued: 2024-01-03 Expires: 2024-12-31

The above named firm/agency has met the following requirements:

Is duly listed and assessed on the tax rolls of Jackson County, Missouri and is not delinquent in the payment of any taxes due to the County, or did not have on December 31st of the previous year any property subject to taxation by the County

Attests and agrees to Chapter 6 of the Jackson County Code which prohibits discriminatory employment practices and promotes equal employment opportunity by contractors doing business with Jackson County.

Chief Compliance Review Officer
Jackson County Missouri
816-881-3302
compliance@jackonsongov.org

STATE OF MISSOURI



#### John R. Ashcroft Secretary of State

# CORPORATION DIVISION CERTIFICATE OF GOOD STANDING

I, JOHN R. ASHCROFT, Secretary of State of the State of Missouri, do hereby certify that the records in my office and in my care and custody reveal that

# RADMACHER BROTHERS EXCAVATING CO., INC. 00343115

was created under the laws of this State on the 25th day of July, 1990, and is in good standing, having fully complied with all requirements of this office.

IN TESTIMONY WHEREOF, I hereunto set my hand and cause to be affixed the GREAT SEAL of the State of Missouri. Done at the City of Jefferson, this 22nd day of February, 2024.

Secretary of State

Certification Number: CERT-02222024-0085





#### **Finance Department**

**Revenue Division** 

Phone: (816) 513-1120
Fax: (816) 513-1264
Email: revenue@kcmo.org
Website: kcmo.gov/tax

Letter Id: L0361208576
Date: 03-Apr-2024
Taxpayer Id: \*\*-\*\*9884

Kansas City, MO 64106-2786

414 E 12th St. 1st Floor

LEIGH RADMACHER RADMACHER BROS EXCAVATING CO INC 2201 N STATE ROUTE 7 STE B PLEASANT HILL MO 64080-9406

#### **TAX CLEARANCE STATUS: APPROVED**

As of this date, this notice is to inform you that RADMACHER BROS EXCAVATING CO INC is current with all taxes and license fees with the City of Kansas City, Mo., Finance Department/ Revenue Division.

Please note this could change if we perform a full review of your accounts in the future. We will let you know if we need to review your accounts. You will need to pay any amounts that are found due at that time.

Eric Davison

Commissioner of Revenue

Fine Ouvon

# Jackson County Missouri Certificate of Compliance



In accordance with Jackson County Code Chapter(s) 6 and 10, this Certificate of Compliance is hereby issued to:

Radmacher Brothers Excavating Co., Inc. 2201 North 7 Highway B Pleasant Hill, MO 64080 2024 Certificate: 20240103VC426

> Issued: 2024-01-03 Expires: 2024-12-31

The above named firm/agency has met the following requirements:

Is duly listed and assessed on the tax rolls of Jackson County, Missouri and is not delinquent in the payment of any taxes due to the County, or did not have on December 31st of the previous year any property subject to taxation by the County

Attests and agrees to Chapter 6 of the Jackson County Code which prohibits discriminatory employment practices and promotes equal employment opportunity by contractors doing business with Jackson County.

Chief Compliance Review Officer Jackson County Missouri 816-881-3302 compliance@jackonsongov.org

#### **AFFIDAVIT**

Comes now Robert C. Radmacher	_, of the
Printed Name of Affiant	
Radmacher Brothers Excavating Co., Inc.	1
Name of Bidding Entity	
and upon his/her oath states that in connection with the bid for	
South Helmig Road Bridge Reconstruction	
Name of Project Being Bid Upon	,
that he/she has neither promised or paid any money in connection with the securing and that no proceeds from the construction of the said project have been promised any individual or corporation. This affidavit is not construed to include payments for materials furnished.	or will be paid to
Further, Affiant saith not.	
the cull	
Signature of Affiant	
Subscribed and sworn to before me, a Notary Public in and for Jackson County, Mis	ssouri,
this day of, 202 x. 4	
KATHY L. KEE Notary Public - Notary Seal Johnson County - State of Missouri Commission Number 12666189 My Commission Expires Dec 17, 2024  Notary Public	) ee
My commission expires December 17, 2024.	



#### Jackson County, Missouri Public Works Engineering Division

#### Bid Form for SOUTH HELMIG ROAD BRIDGE RECONSTRUCTION Federeal Project No. BRO-B048 (60) County Project No. 3215 County Bid No. 24-002

Item	Description	Quantity	Units	Unit Price	Total Price
1	Mobilization	1	LS	\$57,240.00	\$57,240.00
2	Contractor Furnished Survey and Staking	1	LS	\$7,705.00	\$7,705.00
3	Clearing and Grubbing	0.1	Acre	\$42,842.00	\$4,284.20
4	Removal of Improvements	1	LS	\$53,981.00	\$53,981.00
5	Unclassified Excavation	336	CY	\$38.30	\$12,868.80
6	Class 4 Excavation	439	CY	\$38.20	\$16,769.80
7	Embankment	785	CY	\$8.60	\$6,751.00
8	Contractor Borrow	165	CY	\$48.25	\$7,961.25
9	Barricades (Type III w/ Flashers)	8	Each	\$391.25	\$3,130.00
10	Construction Signs	270	SF	\$23.70	\$6,399.00
11	Foundation Stabilization	86	CY	\$198.25	\$17,049.50
12	Culvert Leveling Pad	224	SY	\$73.10	\$16,374.40
13	Double Cell 10' x 8' RCB Culvert (Precast or Cast-in-Place)	82	LF	\$3,611.00	\$296,102.00
14	Rock Blanket (Type 2)	132	CY	\$146.75	\$19,371.00
15	Woven Wire Fence	129	LF	\$35.00	\$4,515.00

#### Bid Form for SOUTH HELMIG ROAD BRIDGE RECONSTRUCTION Federal Project No. BRO-B048 (60) County Project No. 3215 Bid No. 24-002

(cont.)

16	Barbed Wire Fence (Temporary)	129	LF	\$31.55	\$4,069.95	
17	Aggregate Base (4")(MoDOT Type 5)	51	Tons	\$65.25	\$3,327.75	
18	Asphaltic Concrete Pavement (4") (RC Type 5-01)	50	Tons	\$310.50	\$15,525.00	
19	Silt Fence	261	LF	\$1.60	\$417.60	
20	Rock Ditch Check	36	LF	\$35.50	\$1,278.00	
21	Sediment Removal	6	CY	\$54.55	\$327.30	
22	Permanent Signing	24	SF	\$88.90	\$2,133.60	
23	Temporary Seeding & Mulching	0.1	Acre	\$16,002.00	\$1,600.20	
24	Permanent Hydroseeding & Mulching	0.1	Acre	\$35,560.00	\$3,556.00	
25	8" Gate Valve	2	Each	\$12,409.00	\$24,818.00	
	Total Bid for Project = \$587,555.35					

#### LIST OF INTENDED SUBCONTRACTORS

ie: <b>Radmacher</b>	Brothers Excavating Co	., Inc.	
tractors be used to	complete the work? XX	Yes	_ No
plete this form an	d submit it with your bid.		
ctor No1	_		
elch Silt Fence & E	Erosion Control		
PO Box 526			
Code: <u>Peculiar, M</u>	1O 64078		
elephone No: 81	6-651-7358 F	ax No: 816-7	79-4800
of work to be pe	rformed (include Bid Item	Number, and	Bid Item):
nd Erosion Contro	ol - Bid Items 1, 19, 23 and	24	
\$	DBE	Certif.	
5,102.35		Agency	
			7
ctor No2			
ctor No2 letro Asphalt			
letro Asphalt	Cobbler		
Metro Asphalt PO 3811 North C Code: Independ	cobbler ence, MO 64058	ax No: 816-	257-2853
Metro Asphalt PO 3811 North Code: Independelelephone No: 8	cobbler ence, MO 64058		
Metro Asphalt PO 3811 North Code: Independelelephone No: 8	cobbler ence, MO 64058 16-836-7400 F rformed (include Bid Item		
Metro Asphalt PO 3811 North Code: Independelephone No: 8 In of work to be performed.	cobbler ence, MO 64058 16-836-7400 F rformed (include Bid Item		
Metro Asphalt PO 3811 North Code: Independelephone No: 8 In of work to be performed.	cobbler ence, MO 64058 16-836-7400 F rformed (include Bid Item		
Metro Asphalt PO 3811 North Code: Independelephone No: 8 In of work to be performed.	cobbler ence, MO 64058 16-836-7400 F rformed (include Bid Item		
1	ctor No1 elch Silt Fence & E Code: _Peculiar, Note lephone No:81 n of work to be peculiar.	tractors be used to complete the work? XX  plete this form and submit it with your bid.  ctor No1  elch Silt Fence & Erosion Control  PO Box 526  Code: _Peculiar, MO 64078  elephone No: _816-651-7358 Fin of work to be performed (include Bid Item and Erosion Control - Bid Items 1, 19, 23 and	ctor No1elch Silt Fence & Erosion Control PO Box 526 Code: Peculiar, MO 64078 elephone No: 816-651-7358 Fax No: 816-7 of work to be performed (include Bid Item Number, and and Erosion Control - Bid Items 1, 19, 23 and 24

### LIST OF INTENDED SUBCONTRACTORS (cont.)

Subcontrac	ctor No3			
	reetwise, Inc.			
Address: _	13501 Arrington F	₹d		
City & Zip (	Code: Grandviev	v, MO 64030		
		10.004.0055	ax No: 816-3	331-1355
Description	n of work to be pe	rformed (include Bid Item	Number, and I	Bid Item):
Traffic Co	ontrol and Signing	- Bid Items 9, 10 and 22		
Dollar	\$	DBE	Certif.	
Amount	9,840.00		Agency	
Subcontrac		_		
	BARQ Reinforcing			
	8575 E 37th Terr.			
City & Zip C	Code: Independen	ce, MO 64057		
<u>T</u>	elephone No: 816	-599-4409 Fa	ax No:	
Description	of work to be per	rformed (include Bid Item I	Number, and I	Bid Item):
Ironwork - I	Bid Items 1 and 13	3		
Dollar	\$	DBE	Certif.	
Amount	15,529.00		Agency	

#### **DBE Submittal Forms**

(6)	DBE Submittal Forms:	This form must be submitted by 4:00 P.M. three (3) business da	iys
after b	oid opening.		

- (A) <u>DBE Contract Goal</u>: By submitting this bid, the bidder certifies that the bidder is familiar with the DBE Program Requirements in this contract. The contract DBE goal for the amount of work to be awarded is <u>0%</u> of the total federal project price. The bidder shall also complete the DBE Submittal Form in accordance with the program requirements.
- (B) <u>DBE Participation</u>: The bidder certifies that it will utilize DBE's as follows:

0 % OF TOTAL FEDERAL CONTRACT

NOTE: Bidder must fill in the above blank. If no percentage is specified, the bidder certifies that it agrees to, and will comply with the contract goal. If a percentage below the contract goal is specified, then the bidder must submit complete documentation of good faith efforts to meet the DBE contract goal, immediately below.

(C) <u>Certification of Good Faith Efforts to Obtain DBE Participation</u>: By submitting its signed bid, the bidder certifies under penalty of perjury and other provisions of law, that the bidder took each of the following steps to try to obtain sufficient DBE participation to achieve the Commission's proposed DBE Contract Goal: (Attach additional sheets if necessary).

Phone Calls	
Emails	
Invitation to Review Plans	

#### **Eric L. Johnson**

From: Rodney A. Braman < Rodney.Braman@modot.mo.gov>

**Sent:** Tuesday, March 26, 2024 12:37 PM

**To:** Eric L. Johnson

**Cc:** Sarah E. Long; LPAKCGroup; LPASubmit **Subject:** EXTERNAL FW: Concurrence in Award

**Importance:** Low

WARNING: This email originated outside of Jackson County.

DO NOT CLICK links or attachments unless you recognize the sender and know the content is safe.



### Missouri Department of Transportation

Patrick K. McKenna, Director

03/26/2024

Jackson County Ric Johnson, PE

Re: Concurrence in Award BRO-B048(60) South Helmig Road Bridge Reconstruction

Dear Ric Johnson, PE

The Missouri Department of Transportation (MoDOT) concurs with the recommendation to award this project to Radmacher Brothers Excavating Co., Inc., with a low bid of \$587,555.35. MoDOT's External Civil Rights have approved the DBE participation submitted by the awarded bidder to fulfill the DBE Goal of 0%.

After executing the contract, please submit an electronic copy of the following documents to your MoDOT district representative.

Final Plans Package given to Bidders (include all addenda that were issued)

**Fully Executed Contract** 

Payment Bond, Performance Bond

Insurance Certificate

Signed Worker Eligibility Verification Affidavit

Signed E-Verify Memorandum of Understanding (MOU)

Certification Regarding Affirmative Action signed by prime contractor (only if NOT utilizing MoDOT's Federal Project Bid Proposal Boilerplate)

MoDOT will grant the authority to issue the Notice To Proceed after these documents have been reviewed. The fully executed contract must

be the same version that was shown in the bid proposal and must include all signatures, etc.

The itemized proposal is used in preparing a formal project agreement with FHWA. Upon FHWA's approval, a copy of the summary of estimated cost will be furnished for your use. You will then be able to submit invoices for reimbursement.

Please contact your MoDOT district representative at <a href="https://www.modot.org/contact-modot-lpa">https://www.modot.org/contact-modot-lpa</a>, to coordinate the scheduling of a preconstruction conference or if you have any questions regarding the required submittals.

Sincerely,

Ashley Buechter, P.E. Assistant State Design Engineer - LPA (573)526-6997

ashley Buentoe, P.E.

Please do not respond to this automated email. Forward the email, with your questions or concerns to your MoDOT district representative or to <u>LPASubmit@modot.mo.gov</u>

#### Jackson County, Missouri Budget Adjustment Requests

То: _			Date: _			
From:			Reason:		_	
	One Time Expenditure		Annual Expense to be ajusted in proceeding year's budget			
From:			Does this include salary funds?			
Fund	Cost Center	Spend Category	Amount	Account Balance Before Transfer	Month to Date Total Transfers from this account	
То:				New Acct	Month to Date Total	
Fund	Cost Center	Spend Category	Amount	Yes or No	Transfers to this account	
Approvals Please transfer the p	preceeding funds to cov	/er a line item deficit in the	preceeding account(	(s). Signify approval by e	ntering name in space below.	
Department Director			Director of Finance and Purchasing			
dget Office Use	Only					
Fiscal Yr:			WD Ref#:			
Prepared By:	Prepared By: Date:					
Approved By:	Approved By:			Date:		
nistration Approval			Date:			